"Schutzvermerk nach DIN 34 beachten”

@ 20

I I
} JE—
8
n B /
o Id = RN Bohrungen @10,5 %
/ restliche Bohrungen @11,5
. ; holes @10,5 :
2 754 remaining holes @11,5 /@
"1 durch Kornen gesichert
\ through punch marking locked
JQ X
\ J s
—_—t /—

50

|

1
NP

max. Druck 250 kPa max pressure 250 kPa

Werkstoffe: Material:

Aluminium Aluminium

NBR NBR

Stahl Steel

20 |21459 1 [Scheibe Washer

13 14100350 2 |zylinderschraube M8x16 Hexagon head cap screw M8x16
10 [4300006 1 |Scheibe 10,5 Washer 10,5

9 (4200041 1 |Sechskantmutter M10 Hexagon nut M10

8 15200027 2 [Tellerfeder Cup spring

5 21370 1 [Klappe, kompl. Valve, compl.

2 144_29 A } Kugelgriff 45° Ball handle 45°

i:fﬁl -Lea'lf_ﬁ;:l 8&;&’ Benennung Description

ALL TOLERANCED DIMENSIONS ARE FOR INSTALLATION ONLY. f o
ALL OTHER DIMENSIONS ARE FOR REFERENCE ONLY. MCTechnologles

F.A.Sening GmbH, Regentstr. 1, 25474 Ellerbek, Germany

Item name / Benennung

& ﬂ) oo D" Absperrklappe DNB0 / Butterfly-valve DN8O sandwich style

Drawn 10.10.2001 |Schaewe L
made for / zugehdrig zu
Method 1 Method 3 |Checked mit Anschlag / with stop

Scale / Malst. 1:2.5 Item-No. / Teile-Nr. Drawing No. / Zeichnungs-Nr. Rev glh?tet/ 1
Size / Format  1SO - A4 a

Weight / Gewicht 1,9kg KLAG-A 25 1308_51 OOA. OO of/von 1




